 (
Pracovný
 li
st – premena jednotiek dĺžky
) (
Pracovný
 li
st – premena jednotiek dĺžky
)
1,15 m =	dm
14 km = 	m
11,2 m =	dm
9,14 km = 	cm
7 100 mm =	cm
340 000 dm =	km
830 mm =	dm
17 m =	mm
13,8 dm =	mm
14,32 dm =	m
4,25 km =	dm
 38,21 cm =	mm
0,974 m =	cm
17,73 dm =	cm
51 000 mm =	dm
0,57 cm =	mm
9 100 000 mm =	km
17,91 cm =	mm
53,01 m =	cm
11,147 dm =	cm
3 471,04 m =	km
41,201 dm =	mm
970 000 cm =	km
1,24 m =	mm
0,72 dm =	cm
13 000 mm =	m
9 500 m =	km
1400,3 mm =	m
0,84 km = 	cm
5200 dm =	km 
1,15 m =	dm
14 km = 	m
11,2 m =	dm
9,14 km = 	cm
7 100 mm =	cm
340 000 dm =	km
830 mm =	dm
17 m =	mm
13,8 dm =	mm
14,32 dm =	m
4,25 km =	dm
 38,21 cm =	mm
0,974 m =	cm
17,73 dm =	cm
51 000 mm =	dm
0,57 cm =	mm
9 100 000 mm =	km
17,91 cm =	mm
53,01 m =	cm
11,147 dm =	cm
3 471,04 m =	km
41,201 dm =	mm
970 000 cm =	km
1,24 m =	mm
0,72 dm =	cm
13 000 mm =	m
9 500 m =	km
1400,3 mm =	m
0,84 km = 	cm
5200 dm =	km 
